[MAA 2.8] EXPONENTS

SOLUTIONS

Compiled by: Christos Nikolaidis
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(b)  y-intercept: (0,3), horizonta asymptote: y =2
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10. (@ a=0,b=2,c=6

(b)  y-intercept: (0, -1), horizonta asymptote: y = -2
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A. Exam style questions (SHORT)

13. (@) (@) b=e>+2 (i) b=9.39
®) f()=e+2=4.72, £7(6)=1.386294...=1.39

(c) y-intercept: (0,3), horizontal asymptote: y =2
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(d) Domain: x € R, Range: y >2
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17. 47 =8 <27 =2" & 2x* =3x & x(2x-3)=0

x=3/2 or x=0
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B. Exam style questions (LONG)
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(a) | y- intercept: (0,5) (b) | y-intercept: (0,-1)
h. asymptote: y=3 value of b: 2e+3 h. asymptote: y=-3 value of b: 2e-3
Domain: xeR Range: y>3 Domain: xeR Range: y> -3
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(b) y=I5
() () f(5)=49.8 (ii) x=7.50
(d x>814s0x=9
()  y=5.02, the horizontal line is y =35
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